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1 Introduction

Fourier Transform is a widely used method in many different areas with countless applications.
One obvious application is in Signal Processing where we want to decompose a wave into its
elementary sine and cosine waves. [1] Fourier Transform has a lot to say on its own, but to
quickly get to the topic of Fast Fourier Transform, I will only focus on the multiplication of
polynomials. Normally multiplying polynomials will take ©(n?) as we need to multiply all
n+ 1 terms in the first polynomial with all the n + 1 terms in the second polynomial. [4] But
FFT can do this better. In this paper, I will illustrate how the FFT algorithm is developed,
implemented, and show that it has ©(nlog(n)) complexity.

Remark. From now on, F will denote either C or R.

2 Interpolating Polynomial

In many areas of Data Science, Physics, Machine Learning, etc. we are often given a dataset
S ={(z1,p1)s- - (Tn,pn)} € F? where x’s are the time that measurements are taken and p’s
are the measurements. And we are asked to find an Interpolating Polynomial p € P, (F)
which interpolates S. That means for all ¢ € {1,...,n},p(z;) = p;.

We can write any polynomial p as p(z) = ag+ax+- - +a,_12"" ', and the system of equations

p(z1) =m
ﬁ(xn) =Pn
as a matrix equation:
I i o p1
1 z, el I Pn

If such a system has a solution, then an interpolating polynomial exists. Otherwise, the
interpolating polynomial does not exist.

2.1 Interlude on Determinant

To analyze this matrix equation, we will resort to the powerful tool of determinants. In
any linear algebra book, determinants are defined as the unique multilinear, alternating,
normalizing function on rows or on columns. Here is a version of definition of determinants
where I modified slightly to account for column interpretation.

Definition 1 (Determinant). [3]

Let {ej,...,e,} be the standard basis of F*, Let M € MAT,, ,(F) and {vy,...,v,} be its
columns. Then the determinant of M is the unique multilinear, alternating, normalizing
function f: (F")™ — F where det(M) = f(vy, ..., vy,)

Muitilinear means that f is linear with respect to every entry when all other entries are fixed.



Alternating means whenever two entries of f swaps, f changes sign.
Normalizing means f(ey, ..., e,) = 1

This definition immediately leads to the following theorem:

Theorem 2 (Column Operations does not Change Determinant). [/
Leta € F, Let M € MAT, ,(F) and {vy,...,v,} be its columns. Let i,5 € {1,...,n} where
i # j. Then det(M) = f(vy, ..., vp) = flv1, ..., vi+a-vj, ..., v,)

Proof. Let M € MAT,, ,(F) and {vy,...,v,} beits columns. Let ,j € {1,...,n} wherei # j.
Then by multilinear,

flor, ..o ,vi+a-vj,.0,0,) = flor, oo v, 00, 0,) + for,. . a0, 000, 0,)
=det(M)+a- f(vr,...,05,...,05)
=det(M)+a- f(vi,...,05,...,05,...,0)

Since f is alternating, by swapping the two v;, we have f(v1, ..., v;, ..., v;, ..., Vy) = -
flor, oo v, o0, v, oo, ), 80 fug, oo, v, o 0, o, vy) = 0.
Thus, we have det(M) = f(v1, ..., vi+a-v;, ..., vy) ]

Here is the method of computing determinant:

Definition 3 (ij-th Minor). [3]
Let M € MAT,, ,,(F), the ij-th minor where ¢, j € {1,...,n} is the matrix M;; € MAT,,_; ,_1(F)
obtained by removing the i-th row and the j-th column from M.

Theorem 4 (Cofactor Expansion). [3/
For all M = (m);; € MAT, ,,(F), for alli € {1,...,n}, det(M) = >""_ (=1)"m;;det(M;;)

j=1
Finally, I will present the following well celebrated theorem:

Theorem 5 (Determinant and Invertibility). /3]
Let M € MAT, »(F), det(M) # 0 if and only if M is invertible.

2.2 Uniqueness of Interpolating Polynomial

Currently, we alreay have a way to uniquely determine polynomial through its coefficients,
but this leads to the problem of ©(n?) in multiplication, is there another way that we can
multiply polynomial fast? Yes there is. If polynomial p pass through the point (1, 2), and
polynomial q pass through the point (1, 4), then we immediately know that their product pq
must pass through the point (1, 8). Indeed, graph of polynomials can be viewed as collection
of points. So why don’t we choose some representing points to denote each polynomials? In
this way, the multiplication will be very straightforward![4] But how many points are needed?
It turns out, for an n — 1 degree polynomial with n > 2, n points will uniquely determine the
polynomial, but of course, its proof relies on determinant.



Lemma 6. .

Let n be a natural number with n > 2, let xq,...,x, € F
1 o ... ot
det |+ ¢ . | =[] @-=)
1 x, ... z"! 1<i<j<n

Proof. 1 will prove by induction on n
let z¢,...,2, €F

1. (Base Case) n = 2

Then
det(l x1>=1'$2—1'$1:$2—$1: H (zj — i)

1 T
1<i<5<2

So the base case holds.

2. (Inductive Case) Assume the inductive hypothesis that there exists some k € N where

1 2y ... 2!
det | oo = I (@—=)
1z miz—l 1<i<j<k
I WTS the case k£ + 1 holds.
Let
1 =z ... :L"f
A=|: :
1 @pyr .. @iy

Then according to Theorem 2, I want to add —x; multiplied the [-th column to the

(I + 1)-st column for every [ € {1,...,k}, and get:

1 zy—21 ... x’f—xlf_l-xl 1 0
k k—1
A= (d) = 1 ay—xy z—xy x| (1 (w2 — )
= (aj, - ‘
k k-1 k—
1 Tppr— o1 ... T — T T I (Tgyr —21) ... 2

where we still have det(A’) = det(A) by Theorem 4 and since x; € F, so —z; € F

Now I compute the determinant of A’ after row 1
det(A) = det(A') = M1 (=1)"Haldet(Al;) = 1- det(A,,), where

Jj=1 J
(xg —x1) ... ah 7t (xy—a)
Ay = :
(Tp41 — 21) 3724: (kg1 — 11)

0

a5t (2 — 1)

L (@1 — @)



since by definition 1, the determinant is multilinear, then

(3}’2 —.iﬂl) l’g_l . (l’g —.CCl)
det(Al,) = det :
(g1 — 1) ... xZ;i (T — 1)
1 oz ... ab?
= (z2 —x1) ... (Tpp1 — 1) - det :
1z ... I],:ji
12, ... (af)kt
= (g —x1) ... (Tpy1 — 1) - det :
1o, ... (ap)k?
where the last step is by changing the reference of x5 to 2/, ..., xx41 to x},
Now, by inductive hypothesis, we have
1oy .. (ah)kt
det |+ i o i = I @-ah= ] (-w)
1 :I:'Qc o (%)k—l 1<i<j<k 2<i<j<k+1
where the last step is by changing back the reference of | to =3, ..., 2} to xp1y
plug this fact back into the original equation, we have:
1oy oo ()R]
det(A})) = (o — 1) ... (Tp1 — 1) - det :
1o, . (ap)F !

= (1’2 — .Tl) e (xk—i-l — Il) . H (IL’j — .TZ)
2<i<j<k+1
= I @-=)
1<i<j<k+1

Thus,

det(A) =1-det(A};)

=1- I (@-w)

1<i<j<k+1

= I (@—=)

1<i<j<k+1
So the inductive case holds.
Hence, by principle of induction, I have shown that the formula holds for n > 2 as needed. [

Now with this lemma, we are finally ready to prove the main theorem of this section,
for an n — 1 degree polynomial with n > 2, n points will uniquely determine the polynomial.



Theorem 7 (Uniqueness of Interpolating Polynomial). .

Let n be a natural number with n > 2, let S = {(x1,p1),. -, (Tn,pn)} € F? be n points
satisfying for all i,j € {1,...,n} where i # j, we must have x; # x;, then there is one unique
polynomial p € P, _1(F) which interpolate the dataset S.

Proof. Let n be a natural number with n > 2, let S = {(z1,p1), ..., (®n,pn)} C F% Let
p € P,_1(F) where p(x) = ag + a1x + -+ + a,_12"*. Let’s look at the matrix equation at
the begining of this section, it says that we can write the system of equations

p(z1) =m
ﬁ(xn) = DPn
as a matrix equation:
1 =z ... a:?_l ao D1
1 T xz—l Ap—1 Pn
where by Lemma6, we have
1 o ... 2!
det [+ : - =[] (@-m)
1 z, ... an ! 1<i<j<n
n

Since for all 7, j € {1,...,n} where i # j, we must have x; # x;, so for all i,j € {1,...,n}
where i # j, we must have z; —x; # 0, so [],;_;<,(%; — x;) # 0. Thus this tells us:

1 oz ... !
det|: . i | #0
1 z, 1
1 oo ... ot
Now by Theorem 5, we know the matrix |: @ .. : is invertible, and so it has an
1 z, ant
inverse.
n—1 n—17 1
1 i 1 T
In particular, the inverse of [: @ .. : is |:
1 @, ... a'! 1z, ... a'!

n
Since this matrix is invertible, we know that our matrix equation admits a unique solution

and so the vector corresponds to the coefficient of the interpolating polynomial can be unique
solved.
In particular,



Thus, since the solution is unique, and coefficients uniquely determines the polynomial, this
means that the interpolating polynomial exists and is unique. O

Remark. Notice the requirement of z; # x;. Since polynomials are functions, they must be
univalent. So it is impossible for a polynomial to map the same element in domain to different
elements in the codomain.

2.3 Overfitting Problem

Now let’s consider what will happen if we ask for an interpolating polynomial p € P, (F)
where m >n — 17

Theorem 8 (Overfitting Problem). .

Let n be a natural number with n > 2, let S = {(x1,p1),. .., (Tn,pn)} € F? be n points
satisfying for all i,5 € {1,...,n} where i # j, we must have x; # x;, Let m > n — 1, and
assume there exists a p € P, (F) that interpolates the dataset S. Then there are infinitely
many polynomials in P, (F) that interpolates the dataset S.

Proof. Let p € P,,(F) be a polynomial, assume p(z) = ag + a1 + - - - + apx™
then we can easily write the system of equations

p(z1) =mp
p(xn) = Dn
as a matrix equation:
I x| | ao p1
1 =z, | am Dn
1 Ty ... lﬂln Qo P1
Let A= |: + .. t],letx=1]:|,letbh=|:
1z, ... oy Qm, Dn

Thus we have Az = b
Let the polynomial that interpolates the data be p, Since A has n rows and m + 1 colunms,
where m > n—1,so m+1 > n, then A has nontrivial kernel. In particular, there are infinitely
many elements in ker(A).

ag
Let kg = | : | bein ker(A), then Aky = 0 where ky # 0.

!/

A,

So let ky = ko + z, let py € P,(F) be the polynomial with coefficient given by k;, then
Ak = A(ko + ) = Ako+ Az = 0+ b = b, so p; also interpolates the data. Since ko # 0, then
p1 # p. Also for each different nonzero element in ker(A), I have a unique p;.

Thus, we have infinitely many polynomials that interpolate the data. O]



Remark. This is particularly problematic because when we want to deduce the value at an
unknown position, by Theorem 7 and m > n, for any value in F we can find a polynomial to
predict it, thus our model is useless.

3 Evaluation

Now Let’s consider our original question, we want to multiply two polynomials p and q
each of degree n to get a polynomial pq where pq is of degree 2n. By Theorem 7, we know
that 2n + 1 points will be sufficient to uniquely determine the polynomial pq. So our plan
is to choose 2n + 1 different x values in the domain, evaluate p and q on these 2n + 1
places to get 2 sets of 2n + 1 points. multiply their corresponding y values, and we will get
2n + 1 distinct points (at least the x value are different) for pq, which will determine pq
uniquely. This is a good plan as we successfully reduced the time requirement of multiplying
polynomials to ©(n) as multiplying 2n + 1 points takes 2n + 1 procedures. However, what
about evaluating these points? We have 2n + 1 position to evaluate, and for each position,
we need to plug it into polynomials with n 4+ 1 terms in the worst case, so the total steps is
(2n+1)-(n+1) = 2n%+ 3n + 2 for each polynomial in the worst case, which is still ©(n?), so
we actually did not improve anything. How can we reduce the number of steps needed?

3.1 0Odd and Even Functions

The solution, it turns out, is through the properties of Odd and Even Functions.[4] Let’s first
see what does odd and even functions mean.

Definition 9 (Odd Function). A function f: F — F is odd if for all z € F, f(—z) = —f(x)
Definition 10 (Even Function). A function f: F — F is even if for all x € F, f(—x) = f(x)

Now, by using odd and even function, we now only need half of the points, because if
we take a positive position x, we immediately know what the value at position —z is. In
particular, we have the follow theorem:

Theorem 11. [//
For all polynomial p € P,(F), then there exists even polynomial q,v € P,(F) such that
p=q+x-T.

Proof. Let p(x) = ag + a1z + -+ - + apa”
1. If n is even, then
p(z) =ap+ a1z + -+ + a,z”

= (ap + a92® + -+ + a,2") + (@ + azz® + -+ + a,_12"")

= (ag + agx® + -+ ap2™) + - (ay + agz® + - + ap_12"?)



Now I take q(z) = ag + as2® + - - + apa™ and r(z) = a1 + azx® + - - + ap_12" 2, then
q,r € Py(F)
First, I will show q is even. Let x € IF,

q(—=1) = ap + as(—2)* + - + ap(—2)"
= ag + agx® + -+ + a,a"

= q()

since each term is of even power and (-x) to an even power is the same as x to the same
power, thus q is even.
Now I will show r is even. Let z € F,

r(—z) =ay +az(—z)* + -+ + a1 (—2)" 3
=a; +azx® + -+ a,_ 12"

= (@)

since each term is of even power and (-x) to an even power is the same as x to the same
power, thus r is even.
Therefore, I successfully write p = ¢ + x - r where both q and r are even function.

. If n is odd, then

p(z) = ap+ a1z + -+ a,z”
= (ag + apx® + -+ + ap_12" ) + (17 + azz® + - - + a,2™)

= (ap + agx® + -+ an 12" )+ (ay +azz® + -+ az™ )

Now I take ¢(z) = ag + asz® + -+ + ap_12" ' and r(z) = a; + azx® + - -+ + a,2" !, then
¢, 1 € Py(F)
First, I will show q is even. Let x € F,

q(—x) = Qo -+ CLQ(—.TL')Q + -+ anfl(—l')nil
= ap+ asx? + -+ ap_1z"

= q(x)

since each term is of even power and (-x) to an even power is the same as x to the same
power, thus q is even.
Now I will show r is even. Let x € T,

r(—x) = ay +as(—2)* + -+ ap(—2)"!
=ay + a3z’ + -+ a,a" !

=r(z)

since each term is of even power and (-x) to an even power is the same as x to the same
power, thus r is even.
Therefore, I successfully write p = ¢ + x - r where both q and r are even function.



In conclusion, I successfully write p = g + x - » where both q and r are even function. O]

Remark. According to the proof, if p(z) = ag + ez + - -+ + a,z™ where n is even, then
q(z) = ag + axz® + - + a,2" and r(z) = ay + azz® + -+ + a,_12" 2. if I take y = 22, then
q(y) = ap +agy + - +ayy? and r(y) = ay +asy +--- + an_ly% which all make sense as n
is even.

If n is odd, then ¢(z) = ap + azx® + -+ + ap_12" " and r(x) = a; + azz® + -+ + a,z™ L if 1
take y = 22, then q(y) = ag + asy + -+ - + a,y"T and r(y) = a1 +asy+---+ any"T which
all make sense as n is odd.

Thus, we can rewrite p such that p(z) = q(y) + z - (y) where y = 22, so for any chosen x, we
have p(x) = q(2?) + x - r(2?), and p(—x) = q(2?) — z - r(2?)

Now with this remark, given any polynomial p, I only need to evaluate half of the points
that is positive, and the negative points are immediately known. This leads us to think about
using recursion to solve this problem. However, there is one last problem. In the recursive
step, I want to appeal to Theorem 11 again to evaluate only half of the points, but now all
points are positive as 22 is guaranteed to be positive under real numbers, so our chain breaks.
Is there a set of points that can be taking powers yet still producing positive and negative
pairs?

3.2 Complex Numbers and Roots of Unity

The solution turned out to be in the Complex Numbers. And the n-th root of 1 is just what
we need.[4] We know that any complex number can be written as a + bi where a is the real
part and b is the imaginary part, but, there is a further polar interpretation of complex
numbers.

Definition 12. Complex Conjugate[3]
Let z = a+bi be a complex number, then the Complex Conjugate of z denote Zis Z = a—bi

Definition 13. Polar Representation|3]

Let z = a + bi be a complex number , let r = v/a? 4+ 0?2, let § € [0,27) be an angle such
that tan(d) = 2, then z = r(cos(f) + i - sin(9)) and we call r(cos(0) + i - sin(6)) the polar
representation of z.

Further, z is also equal to

r(cos(0 + 2km) +i - sin(0 4 2kn)) for all k € Z
and
—r(cos(0 + (2k + 1)7) + i - sin(0 + (2k + 1)m)) for all k € Z
With polar representation, we can talk about the roots of complex numbers:

Definition 14 (N-th root of Complex numbers). [3]
for all n € N, for all zg = ro(cos(6y) + i - sin(by)) € C, let z = r(cos(f) + i - sin(f)) € C be an
n-th root of zy, then
1
r=rg
and

1 2k
9:—00+—7Tforsomek’EZ,kE{O,...,n—l}
n n

10



Remark. In particular, there are n distinct values for 6, so there are n distinct n-th roots of
every complex number.

In our recursive algorithm, since we are keep dividing the set of points into 2 sets. we need
the number of points to be some power of 2. So from now on, we will let n be some power of
2.

Now let’s look at 1’s roots with the help of Euler’s formula.

Definition 15 (Euler’s Formula). [4]
Let 0 € R, then
e = cos(6) +1i - sin(0)

Theorem 16 (N-th Root of Unity). [//
2kim

The n-th root of 1 has the form e =

Proof. Since 1 = 1+ 0i = 1(cos(0) + i - sin(0)), by Definition 14, the n-th root of 1 are
2 = r(cos(0) + i - sin(0)) € C where r = 1% = 1, and § = 16y + 22T for some k € Z,k €
{0,....,n—1}

Then that means § = .0 + 2% = 21
Thus, z =1- (005<%Tﬂ) +i- Sm(%T”)) = by Euler’s Formula. Thus, then n-th root of 1
2kim

has the form e™» O]

2im

Remark. Now, taking k = 1, we define w = e™n
Let n be an even integer, if we raise w to some integer power m, what will happen?

(W)™ = (&)™ = em | |
Now consider the n-th power of (w)™, we have ((w)™)" = (™55 )" = emm " = 2min —

cos(2mm) + i - sin(2mm) = 1 as m is an integer. So integer powers of w is still n-th root of
unity!

In addition, given an n-th root of unity r, -r is also an n-th root of unity as (—r)"* = (=1)"r" =1
because n is a power of 2 according to previous remark.

Finally, I am ready to proof the theorem that we have long anticipated for, that the square
of n-th root of 1 come in positive and negative pairs.

Theorem 17 (Square of N-th Root of Unity Comes with Positive and Negative Pairs).
Let n > 4, let e“n" where k € {_O,...,n — 1} be an n-th root of 1, then there exists an
m € {0,...,n—1} such that (¢ )2 = —(e"n")2

. 2kim 2kim L 2kim 4kim
Proof. since e » is an n-th root of 1,50 (e » )2 =€*"n =en

11



1. Ifk < %", then I take m = k + %, then

2min 2(k+%)iﬂ'
(e ) =(e = )
(2k+%)i7r
= (e n 2
(2k+%)i7‘r
= 62. n
(4k+n)im
= € n
::6é%ﬂem

=" (cos(m) + i - sin(m))

4kim

2. If k> 22 then I take m =k — 2, then

(™)

4kim

(cos(m) +i - sin(m))
dkin
e n
—1
dkin
= —€e n

In either case, the squares of the n-th root of unity still comes in positive and negative
pairs. O

Remark. In addition, as n > 4 is a power of 2, by redefining n = 5, we still have n-th root of
unity.

3.3 DFT Matrix

Now we have already shown that by taking n > 4 to be power of 2, the n-th root of unity
comes in positive and negative pairs, their integer powers are also n-th root of unity, and
their squares also comes in positive and negative pairs. Now consider our matrix equation
back in section 1. We have:

n—1
1 Ty ag D1
1 n—1
Ty, In Ap—1 Pn



Since we require n > 4 to be power of 2, and now we need our polynomial to have the same
degree as n. This is easy as we can simply take any valid n that is greater than the degree of
the polynomial and view the additional term of the polynomial as having coefficient 0. Thus,

agp 1 ooy ... a2t
we have the coefficient vectors: : |. We need to fill in the matrix : :
Ap—1 1 =z, xﬁ‘l

by roots of unity so we can compute the values on the right hand side.

we first choose an n > 4 that is a power of 2, and greater than the degree of the polynomial.
Then by Theorem 16, we have S = {¢*%" | k € {0,...,n — 1}} being the n-th root of unity
where S contain n points and we need to fill in z; to z,. So we can simply take for all
ke{0,...,n—1}, Let a4, = 62’?, and this will satisfy all our requirements.

notice, as we define w = 621777, then w

k
Therefore, our matrix becomes:

2kiT .
= e n , thus this means we take x;,; = wF.

1wt L wd (=1
1 wt wl-(nfl)
1wl L e

and we define this matrix to be the famous DFT Matrix.

Definition 18 (DFT Matrix). [5]
The DFT (Discrete Fourier Transform) matrix of size n x n is the matrix

1 1 1 e 1

1 w! w? oowh
M= |1 w? w? oo w?nh)

1 wmD) 2= =)

2im

Where w = e™n

4 Interpolation

Now let’s look at what we have achieved. So far we are able to take the coefficient representation
of a polynomial, and use the DF'T Matrix to find several value points that represent it by simply
performing the matrix multiplication. Using these value points, we can do the multiplication
in ©(n). However, we need a way to change the resulting value points back to coefficients.
Fortunately, in the proof of Theorem 7, we already have the way to do this, and the new
coefficients is given by:



We have the values, and we only need to find

n—1
1 = Ty
1 z, a1

That is, we need to find the inverse of the DFT Matrix.

Theorem 19 (Inverse DFT Matrix). /5]
The Inverse of DFT matriz of size n X n is the matriz

1 1 1 1

1 w! w2 w1
M-l 11 w2 w2 w-2(=1)

1 w—(n—l) w—2(n—1) u]—('n,—l)2

2im

Where w = e™n

Proof. notice that both the DFT matrix and the Inverse DFT Matrix is symmetric as it is
equal to its transpose, so the entries in the j-th column of the matrix is the same as the j-th
row of the matrix, for both of the matrices.

1. Now the jk-th entry of the product MM~ is

1 —
(MM = =3 w0 ===
=1
1 ¢ (I=1)((G=1)—(k—1
— Zw J=1)—(k-1))
=1
1

-3 w6
=1

(a) Ifj =k, then j—k = 0 so every term in the summation becomes 1, so >_;- w(=DU=k) =

n, so (MM™1),, = -

(b) if j # k, then )

—2(j—k)im

n

1

=

2l(j—k)im

S Y e

n

’ Z?:l

wl=D0=R = L.y =1,

2(1—1)(j—k)in

(G —k)ir  —2(j—k)ir

1 w(l_l)(j_k) — Z;L—l e

n

= Z;L:l €

n

n

= 0 because we already showed that the n-th root of unity

comes in positive and negative pairs and we already assumes n is a power of 2.

Thus (MM~1), =+

1

S wlNR = Lo =,

Thus, the diagonal entries of the product is 1 and off diagonal entries are 0, so MM ~! = I

14



2. Now the jk-th entry of the product M~1M is

1 < :
(M7 M) = - S w000 1)
=1
_ L S DD
n
=1

1 — ,
_ L Z WD E=)
n
=1

a) Ifj=k, then k—j = 0 so every term in the summation becomes 1, so >, w=1DkE=1) =
, =1
noso (M= M) = LS00 w060 = L= 1
(b) if j # k, then Y7 w(-D=) — son HEE  gn GG G

—2(k—j)in (k—j)in :
R Sy ™5 = 0 because we already showed that the n-th root of unity

comes in positive and negative pairs and we already assumes n is a power of 2.

Thus (M~'M)j = L. 3" w(=Dk=) = 1.9 =,

Thus, the diagonal entries of the product is 1 and off diagonal entries are 0, so M ~*M = I

Therefore, I have shown that the inverse DFT Matrix is indeed the inverse of the DFT
matrix. ]
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5 Pseudocode and Complexity

Now we have all the pieces solved to assemble the program. This code based mainly on code
provided in the video.[4]

Code 20. [4]

import math
def FFT(list_in, direction) —-> list_out:
"""This FFT algorithm will perform the FFT or Inverse FFT
according to the direction specified.

direction is either 1 or -1.
When it is 1, then the algorithm perform FFT
When it is -1, then the algorithm perform Inverse FFT

When performing FFT, list_in will be the list of coefficients

of a polynomial starting from constant term and end with the

term of highest degree, and list_out will produce a list of y-values
corresponding to the value points of the polynomial.

When performing Inverse FFT, list_in will be the list of y-values
corresponding to the value points of the polynomial, and
list_out will produce the list of coefficients of the polynomial

Precondition: the length of list-in must be a power of 2
nmn
n = len(list_in)
if direction = 1:
w = math.exp(2 * math.pi * math.complex(0, 1)/n)

else:

w = (math.exp(-2 * math.pi * math.complex(0, 1)/n))/n
even = []
odd = []
if n ==

return [list_in[0] + list_in[1], list_in[0] - list_in[1]]
else:

for i in range(n):
if 1 % 2 == 1:
odd.append (i)
else:
even.append (i)
even_out = FFT(even, direction)
odd_out = FFT(odd, direction)
result = []
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for j in range(n/2):
result[j] = even_out[j] + (w *x j) * odd_out[j]
result[j + n/2] = even_out[j] - (w ** j) * odd_outl[j]
return result

! Now, Let’s analysis the complexity through the Master Theorem.

Theorem 21 (Master Theorem). [2/
Given a Divide-And-Conquer Algorithm, let a be the number of recursive calls, let b be the
number of pieces we divide into, let f be the cost of splitting and recombining,
If f € ©(n?), then
O(n?) if a < b?
T(n) =< O(ntlogy(n) ifa=1b?
O(nloen(@)) if a > b?

Now, from the code, it is clear that e =2, b=2 and d = 1, so a = b?
Thus the running time is T'(n) = O(n'log,(n)) which is ©(nlog(n))?

6 Conclusion

In this paper, we have started with the uniqueness of interpolating polynomial, which inspires
us to use values instead of coefficients to represent polynomials leading to a very fast solution
for multiplication. Then we resort to complex numbers to be able to keep squaring a set of
numbers while still having positive and negative pairs which allows us to keep profiting from
properties of odd and even functions in recursion. Finally we achieved an algorithm that is
O(nlog(n)) which is significantly faster than the original ©(n?) algorithm. And the resulting
algorithm is the Fast Fourier Transform.

!This pseudocode was mainly based on the syntax of Python. I changed the code given in the video to
merge the 2 functions into one.
2As a convention in CS, log denote log base 2.
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